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Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

ordered pair  =  _______(-1,2)

y-intercept  =  ______ - 3

2)

>X<

Ŷ
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Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

ordered pair  =  _______(3,3)

y-intercept  =  ______ 1

7)

>X<

Ŷ
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Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = - 73_ x + 4

slope (m) = ______
y-intercept = ______

- 73_ 

 4

. 8)

>X<

Ŷ
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Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 52_ x - 4 6)

>X<

Ŷ
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-2

4

-1 5
-1

5 equation  ____________y = 74_ x - 3

.

7)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 2x - 2

.

8)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 13_ x - 4

.



Name :
Teacher : Date :

Score :

Sketch and Write the Equation For Each LineSketch and Write the Equation For Each Line

1)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(3,-4)
ordered pair  =  _______(-3,0)

y-intercept  =  ______ - 2

2)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(3,3)
ordered pair  =  _______(0,-5)

y-intercept  =  ______ - 5

3)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(4,4)
ordered pair  =  _______(1,-2)

y-intercept  =  ______ - 4

4)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(5,-1)
ordered pair  =  _______(-5,-3)

y-intercept  =  ______ - 2

5)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(5,-4)
ordered pair  =  _______(-5,0)

y-intercept  =  ______ - 2

6)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(-2,-4)
ordered pair  =  _______(-1,-1)

y-intercept  =  ______ 2

7)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(-4,-3)
ordered pair  =  _______(4,1)

y-intercept  =  ______ - 1

8)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________

slope (m)  =  ______

ordered pair  =  _______(-4,-3)
ordered pair  =  _______(4,-1)

y-intercept  =  ______ - 2



Sketch and Write the Equation For Each LineSketch and Write the Equation For Each Line

1)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = - 23_ x - 2

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(3,-4)
(-3,0)

y-intercept  =  ______

- 23_ 

 - 2
. .

.
2)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 83_ x - 5

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(3,3)
(0,-5)

y-intercept  =  ______

  83_ 

 - 5.

.

.
3)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 2x - 4

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(4,4)
(1,-2)

y-intercept  =  ______

  2
 - 4.

.

.

4)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 15_ x - 2

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(5,-1)
(-5,-3)

y-intercept  =  ______

  15_ 

 - 2
. ..

5)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = - 25_ x - 2

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(5,-4)
(-5,0)

y-intercept  =  ______

- 25_ 

 - 2
. .

.
6)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 3x + 2

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(-2,-4)
(-1,-1)

y-intercept  =  ______

  3
 2

.

.
.

7)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 12_ x - 1

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(-4,-3)
(4,1)

y-intercept  =  ______

  12_ 

 - 1

..
.

8)

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 equation  ____________y = 14_ x - 2

slope (m)  =  ______

ordered pair  =  _______
ordered pair  =  _______

(-4,-3)
(4,-1)

y-intercept  =  ______

  14_ 

 - 2
.. .



Name :
Teacher : Date :

Score :

What is the slope of each line ?What is the slope of each line ?

1 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5.
.

 

 Slope = ______
2 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5.
.

 

 
Slope = ______

3 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5.

.

 

 

Slope = ______
4 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 ..
 

 Slope = ______

5 ) y = 1__
4- x - 3 Slope = ______ 6 ) y = 5__

9 x + 1 Slope = ______

7 ) y = 9__10- x - 1 Slope = ______ 8 ) y = 8 x + 2 Slope = ______

Write the slope-intercept form and plot the equation of each line given the slope and y-intercept.Write the slope-intercept form and plot the equation of each line given the slope and y-intercept.

9 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

Slope = ______

y-intercept = ______

1__
2 

-2

Equation : ______________

10 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

Slope = ______

y-intercept = ______

4__
3 

-2

Equation : ______________



What is the slope of each line ?What is the slope of each line ?

1 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5.
.

 

 Slope = ______1__2-
2 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5.
.

 

 
Slope = ______5__9-

3 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5.

.

 

 

Slope = ______5__4-
4 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 ..
 

 Slope = ______1__5 

5 ) y = 1__
4- x - 3 Slope = ______1__

4- 6 ) y = 5__
9 x + 1 Slope = ______5__

9 

7 ) y = 9__10- x - 1 Slope = ______9__10- 8 ) y = 8 x + 2 Slope = ______8 

Write the slope-intercept form and plot the equation of each line given the slope and y-intercept.Write the slope-intercept form and plot the equation of each line given the slope and y-intercept.

9 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

Slope = ______

y-intercept = ______

1__
2 

-2

Equation : ______________y = 1__
2 x - 2

.

10 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

Slope = ______

y-intercept = ______

4__
3 

-2

Equation : ______________y = 4__
3 x - 2

.



Name :
Teacher : Date :

Score :

Find the Slope of Each LineFind the Slope of Each Line
1 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______
.

. 2 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______.
.

3 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______

. . 4 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______
.

.

5 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______
.

. 6 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______
.

.

7 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______
.

. 8 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

slope = ______.
.



Find the Slope of Each LineFind the Slope of Each Line
1 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  2slope = ______
.

. 2 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  25_ 
slope = ______.

.

3 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  1
10__ 

slope = ______

. . 4 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  10
3__ 

slope = ______
.

.

5 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  10slope = ______
.

. 6 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  25_ 
slope = ______

.
.

7 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  52_ 
slope = ______

.

. 8 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

  3
10__ 

slope = ______.
.



Name :
Teacher : Date :

Score :

Find the Slope and Y-intercept for Each EquationFind the Slope and Y-intercept for Each Equation
1 ) y = - 2x + 2 slope = ______

y-intercept = ______
2 ) y = - 34_ x + 4 slope = ______

y-intercept = ______

3 ) y = - 3x - 15 slope = ______
y-intercept = ______

4 ) y = - 43_ x + 1 slope = ______
y-intercept = ______

5 ) y = 23_ x + 1 slope = ______
y-intercept = ______

6 ) y = 13_ x - 4 slope = ______
y-intercept = ______

7 ) y = 32_ x + 3 slope = ______
y-intercept = ______

8 ) y = 32_ x + 3 slope = ______
y-intercept = ______

9 ) y = 74_ x - 3 slope = ______
y-intercept = ______

10 ) y = 12_ x - 1 slope = ______
y-intercept = ______



Find the Slope and Y-intercept for Each EquationFind the Slope and Y-intercept for Each Equation
1 ) y = - 2x + 2 slope = ______

y-intercept = ______

-  2
 2

2 ) y = - 34_ x + 4 slope = ______
y-intercept = ______

-  34_ 

 4

3 ) y = - 3x - 15 slope = ______
y-intercept = ______

-  3
 -15

4 ) y = - 43_ x + 1 slope = ______
y-intercept = ______

-  43_ 

 1

5 ) y = 23_ x + 1 slope = ______
y-intercept = ______

  23_ 

 1
6 ) y = 13_ x - 4 slope = ______

y-intercept = ______

  13_ 

 -4

7 ) y = 32_ x + 3 slope = ______
y-intercept = ______

  32_ 

 3
8 ) y = 32_ x + 3 slope = ______

y-intercept = ______

  32_ 

 3

9 ) y = 74_ x - 3 slope = ______
y-intercept = ______

  74_ 

 -3
10 ) y = 12_ x - 1 slope = ______

y-intercept = ______

  12_ 

 -1



Name :
Teacher : Date :

Score :

Find the Slope and Y-intercept for Each EquationFind the Slope and Y-intercept for Each Equation
1 ) x + y = 8 slope = ______

y-intercept = ______
2 ) 5x + 2y = -8 slope = ______

y-intercept = ______

3 ) 5x + 6y = -12 slope = ______
y-intercept = ______

4 ) -5x + 3y = -9 slope = ______
y-intercept = ______

5 ) x + 4y = 32 slope = ______
y-intercept = ______

6 ) -x + 4y = -16 slope = ______
y-intercept = ______

7 ) -6x + 4y = -12 slope = ______
y-intercept = ______

8 ) -x + 2y = -20 slope = ______
y-intercept = ______

9 ) -5x + 4y = -16 slope = ______
y-intercept = ______

10 ) -5x + 2y = 6 slope = ______
y-intercept = ______



Find the Slope and Y-intercept for Each EquationFind the Slope and Y-intercept for Each Equation
1 ) x + y = 8 slope = ______

y-intercept = ______

-  1
 8

2 ) 5x + 2y = -8 slope = ______
y-intercept = ______

-  52_ 

 -4

3 ) 5x + 6y = -12 slope = ______
y-intercept = ______

-  56_ 

 -2
4 ) -5x + 3y = -9 slope = ______

y-intercept = ______

  53_ 

 -3

5 ) x + 4y = 32 slope = ______
y-intercept = ______

-  14_ 

 8
6 ) -x + 4y = -16 slope = ______

y-intercept = ______

  14_ 

 -4

7 ) -6x + 4y = -12 slope = ______
y-intercept = ______

  32_ 

 -3
8 ) -x + 2y = -20 slope = ______

y-intercept = ______

  12_ 

 -10

9 ) -5x + 4y = -16 slope = ______
y-intercept = ______

  54_ 

 -4
10 ) -5x + 2y = 6 slope = ______

y-intercept = ______

  52_ 

 3



Name :
Teacher : Date :

Score :

Find the Slope from the Pair of PointsFind the Slope from the Pair of Points
1 ) (-5,5)  (5,3) slope = ______ 2 ) (3,2)  (-3,-1) slope = ______

3 ) (0,-5)  (-3,5) slope = ______ 4 ) (-5,-5)  (5,-2) slope = ______

5 ) (5,0)  (-5,4) slope = ______ 6 ) (-1,-5)  (0,5) slope = ______

7 ) (1,3)  (2,-4) slope = ______ 8 ) (-5,2)  (5,1) slope = ______

9 ) (-1,-5)  (-5,5) slope = ______ 10 ) (3,-4)  (0,4) slope = ______



Find the Slope from the Pair of PointsFind the Slope from the Pair of Points
1 ) -  15_ 

(-5,5)  (5,3) slope = ______ 2 )   12_ 
(3,2)  (-3,-1) slope = ______

3 ) -  10
3__ 

(0,-5)  (-3,5) slope = ______ 4 )   3
10__ 

(-5,-5)  (5,-2) slope = ______

5 ) -  25_ 
(5,0)  (-5,4) slope = ______ 6 )   10(-1,-5)  (0,5) slope = ______

7 ) -  7(1,3)  (2,-4) slope = ______ 8 ) -  1
10__ 

(-5,2)  (5,1) slope = ______

9 ) -  52_ 
(-1,-5)  (-5,5) slope = ______ 10 ) -  83_ 

(3,-4)  (0,4) slope = ______



Name :
Teacher : Date :

Score :

Write the Equation from Each LineWrite the Equation from Each Line
1 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________. 2 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________
.

3 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________

.

4 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________.

5 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________

.

6 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________

.

7 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________

.

8 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5

__________
.



Write the Equation from Each LineWrite the Equation from Each Line
1 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = 13_ x + 3__________. 2 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = - 13_ x + 1__________
.

3 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = 2x - 2__________

.

4 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = 3x + 2__________.

5 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = 15_ x - 2__________

.

6 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = 14_ x - 2__________

.

7 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = - 49_ x - 3__________

.

8 )

>X<

Ŷ

V

-5 1

-5

1
-4 2

-4

2

-3 3

-3

3

-2 4

-2

4

-1 5
-1

5 y = 73_ x + 5__________
.


